(s 1o 2y 1 54 -110
[-3 -II] ﬁaﬁ[3 II]

(3 1L fd II'IJ] {4} none of these

o6 |3 11
5. The value of the determinant | cosa sineg 0
-sin acosa 0| Is:
1] 0 1
{1-1 {(2) 0 (31 (4) cos 2ot
6. IT @ is the cube root of unity then the value of | 1 @ o’
oo’ 1 wilbe
w1
e (e’ + 1 (3)0 (4)1
T (1+x)" =Cy+ c.:+C‘1:’+.....+C.x“. then Cyt C; + G +....+
C, Isequal to: 2 3
n+l
(y 221 (Z) 2"%1 2 {3}2“" -1 {4}2“"—I
n+l n-1 nt+l n+l

B.If(1+x) .='C{| + C|I+C1!I +----Cp!.-| then CyCy+C Gy GGy +...=C, 1 Cn s
equal to :
(1) _In (2} 2n {3) In {4} none of these

n-2n-—2 nn n2nt?

9. If the ratio of the second and third term In the expnnsin:n of (a+ by is equal to the
ratio of third and fourth term In the expansion of (a +b }‘“ then the value of n is
equal to :

(16 2} 4 (335 43

10 The number of different words that can be formed by using the letters of the
word *MISSISIPL Is :
(1) 5067 (2} 6705 (3) 1520 4) 2520

11 Ifa*, b, ¢’ arein A.P. then 1 . | , 1 willbe:
b+e c+a a+h

(1) mHP. {(2)inG.P. (3) m AP (4) in arithmetic geometrico progression
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12. A bag coutalns 5 white and 3 black balls. Two balls are drawn at random then
the probability that out of the two one ball is red and other is black will be :
() 15 ) 11 (3) 15 42

56 28 28 7

13. Two dice are thrown together then the probabllity that the sum of numbers
appearing on the dice Is 7:
(1 1 ) 1 3) 5 {4} none of these

6 12 6

Lad

14. The position vectors of the two polnts A and B are a and b respectively then the
position vector of the polnt C which divides AB In the ratlon 2 : 1 will be :
(1) L+b (2) 2a+b (3} at2b (4)none of these

5 5 5

I5.If a+b = a-b,then the angle between a and b will be :
(1) 180° (2)90° (3) 4)0°

16. The area of the region bounded by the curve y = sin’ x , x-axis and the lines x =
hx=wlls

)= (2) '8 (Nx 4=
4 2
17. =2
sinx  dxisequal to;
0 v Fsin2x
{1y = (2)2n (3 x_ i4) n
4 2

18. xe* dx is equal to :

(Nix-De*+C (2) (1-xp*+C
{3l —xpe*+C {4} none of these

? 3
19. x" sin x° dx Is equal to :

{1y | sin x*+C (2) - 1 sin x*+C
3 3
(3) I_{:u:uvnf.'1 41 {4) - I_cusx'1+l:
3 3
20, The max. value of sin x +cos x :
(11 (2 1 (3) ~2 {4) none of these

2

N

21. The angle between the curves y = x and :.'l =4x at origin will be :




(1o (2) m__ (3) m_ {4) none of these
3 4

12, If the volume of a balloon is increasing at the rate of 15 cm’/sec., then If the
radlus of the balloon Is 5 cm. then the rate of change of the surface are a is
(1) 20 cm/sec. {2) 10 mt.~fsec. {3) 5 cm./sec. {4} 10 cm./sec.

13, The differential of coefficlent of x" Is :
(15" log: x (2px" {1 +log.x)  (3)x"( 1 -logex)  (4)none of these

4. _d (simx )"™"" Is equal to :
dx

(1) (sin x)™ " [1 — sec” x log sin x|
(2) (tan x) ™ * plog sec’x log sin x]
{3) (sin x)"™* [1+ sec’ x log sin x]

{4} none of these

I Hy=sec' [ x+1) +sin [x_1
-1 xit+1

then _dy Is equal to:

dx
(1) e (2) 0 31 (4)-1
26, II}'=sIn"[ 2x l,um dv_is equal to:
+x dx
{1 - | {2y - _2
1 +x° 1+
(3 . (4) Z
l+x- 1 +x*

27. i x¥i+y + yWitx =0 then _dy_Is equal to:

dx
(1) l 2y - 1
1+x 1 +x
(3 _2 {4) none of these
(1+x¥

18, Tl1u- continuous product of the roots of (-1 }L'J Is :
(1) w {(2) w (3 0 (EYD!

29, The value of sin " X:

(1) log tx-\'ﬁ} {2) log fxﬂ’?-_[]




(3) log (x+x"+1) 4) Llog 1+x
2 1-x

30. The equation of a st-line passing through the point (1.2) and making equal
angles to with axes. will be :
(1) x-y-2=0 (2 xtytl =0 3xy=1 d)x+ty=1

3. If the vertices of a parallelogram are (0,0), (2.1}, (1.3) and (1.2) then the angle

between thelr diagonals will be:

(Hx_ (2) 3n (3)
4 2

I
2

(4)x
3
31. The equation of line which is parallel to the stralght line 3x + 4y — 7= 0 and
passing throngh (1,2} is :
(3x+4y=11 (2) Ixtdyw+11=0 (3) 4n-3y+2=0 (4) Ix+dyt7=0

A3, The pole of the stralght line 9x + y — 28 = 0 w.r.t. the circle x4+ ¥ 2= 16 will be:

m B3 @ 3. 4
T3 /Y
(4. 36 “) g6, 4
T 7

3. The equation of the tangent from origin to the circle e ,.,z —Irx—Zhy+ W =0
Is:

() (W' =) x + 2rhy =0
(2)y=0

'[3} 1:!"={|

(4) (W) x - 2rthy =0

35, If a tangent at a point p to the parabola meets to the directrix at ). If 5 is the
focus of the parabola then £PS0) Is equal to :

(= 2y =_ (3) z_ 4=
2 3 4
6. IT fiy) = log v, then fi{y) + f{1/v) Is equal to :
{2 2) 0 (331 4yl
37. lim “I‘I“F”""I Is equal to :
Ll x
(h L @ L ()3 4 1
2 3 p 3




38.Ifc and P are the roots of the equation 1 (1+n +n')=0then a +p Is
equal to :

(1) 2n® (2yn’ {3)-n' (4) n*+2

39, The H.M. between 1 and 1 will be :
16
(17 2 2 (3 17 (4 32

2 17 32 17
40, If for two numbers G.M. Is 4 and AN, s 5, then H.VL will be :
{(n 25 (2) 17 (3 16 4 5

15 8 5 16

41. 11 "°C, =" Cp+1 then °C; Is equal to :

(1) 360 {2) 120 (3 10 (4) 5
42. Thevalueof 1+ 1 + 1.3 + L35 +...ls:

4 8 4.8.12
(1) Vi32) (2§27 (3).2 (4) 32

B H(+X)"=Cp+Cx+ Ol +nt Cox"then ©; + 2C; + 3G, +...+

nCn Is equal to : C, iCy C;

ll::'I-I

(1) nin+l1} {2) nin”+ 1} (3ot 1) {4} nin— 1)
2 2 n' 2

44. In the expansion uli: " % the term Independent of x 1s :
X

(1)-32190  (2) 114050 (3) 42240 (4) 330

45, The value of the determent | 4 -6 1
-1 -1 1 Is :
-4 11 -1
(1) & {2y -25 (3) 15 (4} none of these

o+tx 7T =1, then the value of x will be :



https://www.entranceexams.io/

5 10 4+x

(1) 3 2y 0 (3 1 (4) none of these
47.1fA= |dy © O

0 d; 0 thenad] A=

0 0 d;

0 d,;d; 0
0 0 d,d

@) (d,d; 0 0
0 dad;0
0 0 d,d;

o 3 2 5

(1) [:] %] {2}[-3 |;1] tiiE=['5] |;1] :4m=g ie;]

49. IfA= gus x slnj , then A" Isequalto:

4s.|r,q.=[z 4] and B=[1 1] , then 4A — 3B Is equal to :

in xcos x




{I}i,cns x sin x | (2)]|cos x—sinx |:3ﬁf:nsxs'mx (4) none of these
1::'il't X cos X gim X COSX ksinxmsx

50. A card Is drawn at random from a pack of playing cards. The probability that it
Is red or an ace, 1s ;
(hy L 2y L & I 4) 4

13 52 52 13

51. If the sum of two unit vector Is also a unit vector then the magnitude of thelr

difference will be :

(n 1 2y ¥T 3) 4 2

L
%3

51. The unit vector perpendicular to the vectors 6l + 2] + 3k and 3 — 6] — 2k will be:
(1) 2i—3;- 6k (2) 2i—Jjabk (3)12i+3=6k (4)2i +3) +6k

7 7 7 7
53. The area of the reglon bounded by the curves 3.'l =4ax.x=0Dandx=als

{1} 4ma’ (2) 3ma’ {3) 2ma’ (4) ma’

54. The area of the reglon bounded by the curves 3.'I =4ax,.x=0andx=als:

(1) 5_a° )24 BB 4 )44
3 3 3 3

55, cos’ xdx s equal to

{1} sindx + 3sinx+C

4

{(2) sim3x + sinx +C
3 2

{(3) sindx +C

{(4) sin3x + 3 sinx +C
12 4

50. Ifx=a (t+sin t) and y = a(l - cos t) then dy_ Is equal to :
dx

(I)ytant {2) tan 2t (3) cot (t'2) (4) tan (t2)

57, If x =t and ¥ = I, then the normal at t=11s :




(lix+y-3=0 (2x+y-1=0
(x+y+1=0 dyx+vy+3=0

53.f{1}=113—911+ 12 x+ 29 Is a monotonic decreasing function when :
(I)1=<x<2 () x=>1 (x=2 (4)x=2

59. The helght of the cylinder of maximum volume that can be Inscribed In a sphere
of radius r is :
(1) 2+ 3r (2) 2r (3 V3 4) =

3 3

V3 y

o0,  secx dx s equal to :

(1) logsinx + C

{2) log tan (x2) + C

(3) - log (sec x —tan x) + C

($logtanm + _m~+C
)

ol. The differential memi:hnlul’lhd[ 1-x w.ort. xis:

e x
{1 - 2 ] (2) Z ; {3} | {4) none of these
1+x | +x° B .

ol d (set":ilﬂequalm:
{(n _1 . 1 (3 _1 4 _1

AVE—1 xvx -1 VI+x o
63, The differentlal coefficient of tan-1 1 1 — w.r.t s :
1 +‘1I
(1) 2)1 (3)-% (4} none of these
64 lim tan 2 x—x__ Is equal to:
=1 3y _sinx

(o 2) 1 3.1 4 1

3 4

65, The differential coefficient of sln" 1 w.r.L rns" 1'\1 - I! Is :

{1y - | 2y _1 (3 _2 {4) none of these

—— == S —
VI+x vl-x vIl-x

00, The sum of 20 terms of the serles 1 +4+7 + 10 +....05 :




(1) 290 {2) 490 {3) 590 (4) none of these

67. Which terms of the serfes 1, -1
2 2
i1y 10™ () gt {39t (4 12®

» 1-2,....I5—128:

68. IT "Py: "P:=1: 2. then n is equal to :
{1 2 2) 4 {3) 35 i4)6

69. (cos30-1 sin 30)° (cos 20+ 1 sin 20)"  Is equal to :
(cos @+ 1 sin El“ {cos@-1 sin @)6

{1)cos 276 - 1 sin 276
{2)cos 336 -1 sin 330
{3)cos 336+ =in 338
{4)cos 278+ 1 sin 278

70. The value of cos h™ x Is :

(log (x4 - 1) (2) log (x + ¥ — 1)
{3) log (x + vx~+ 1) 14) log (x - x= +1)

71. Find the equation of the straight line which Is perpendicular to the line x_- v =
| and passes through the polnt where the glven st-line cuts the x-axis : a b

(ax+by=a" (2yax—by=a" (Max+by=b (4) bx —ay =ab

72 If the lines x + v =1, 2x — vy = 0 and x + 2v + L = 0 are concurrent then A Is equal
to :

(-2 (2) 2 (3) -5 4

[y %]

3 3 3
73, Iftwo vertices of a triangle are (6.4), (2.0) and Its centrodd is (4, 0) then Its thelrd
vertex will be =
{1)(64) (2)(8.4) (3)3(4.8) {4) none of these
74. The radical axls of the circles 2x* + 2y’ - Tx =0 and x’ + Y -4y - 7=01s:

(l)Bx-Ty+14=0 (2)Tx—8y+14=10

(3)Tx—8y—14=0 4)Tx+8v+14=0

75. The equation of the polar line w.r.t. the pole (1. - 2) to the arile x4+ 3.'1— Ix—oy+
5=01s:

() x+y-1=0 (Zyx+y+1=0 3jy=2 (4yx=2

T6. The vertex of the parabola x2 —v+ox+10=01s:
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(1 {3.1) (2)(3.-1) (3)(3.-2) (4)(-3. 1)

77. 1T (8) = tan @, then the valueof T(8)—F(§) Is:
1+1(8) 1 ()

the - o (2)f(a/¢) (Hf(-0) (HEH + 0

78.1m x*_3x+2 isequalto:

pgry |

I t+x-3
(1) 0 (2) 2 (3} % (4) =
79. lim rﬁ-':l_-PT— 41‘—1] Is equal to :
L=3 ¥
(-1 2)1 (3) 2 (4} e

B0. The equation of the normal at a point of Intersectlon of line 2x +y = 3 and carve
:.r'r.I + f= 5is:

(2x+2y+3=0 (2)x~y+4=0 (3)x-4y+3=0 (4) xtyt2=0

BLIff(x)= x - 3 , then f[f{f{x)}] Is equal to :
xt 1

(-1 {2y -z (EII 1) x

X X

B1. The modulesof 1+1 is:

-1
(H V2 ) 2 (3) % (4) 1

B3, The value of ﬂi 3 - ii.! Is
7T 7

(1) 33 (2 343 (3 33 {4) none of these
7 7 T

B4 1-21 + 4-1 Is equal to :
2+1] 3+121

(1 10+ 24 i (2) 10 - 24 i (3)24 - 10 i (4524 + 101
13 13 13 13 13 13 13 I3

85, Ifz =5+ 31 then the value of | z - 2] will be :
[V RUER (2)2NT (MWNT (413




B6. The iImaginary partof 1-1 Is :

1+1
(h-i {2)-1 (31 4)i
B7. Ifzi=1+2and z; =1- 1, then z,/x: Is equal to :
(y 1 -3i 2y -1 +3 (3) 1 - 3i {4)none of these
2 1 2 . x 12

88. The amplitude of |- ¥&i is:

(1) -In 2) -z (3) 2im 4)x
3 3 3 3

89. If @ and B are the roots of the equation v+ px + q =0 then the value of e + |!J =

0 will be :
(1) p'-3pq @ -(p'+3pg  (3)p'+3pg {4)-p" +3pg

90. If @ and [ are the roots of the equation whose rootsare 1, 1 Is:

a B
(Nxl+x+1=0 ()% F1=D Mxl-x=1 Wxt-x=1
9. Ifz= (1+1)(2+1)  then|a isequalto:
a+1i
(1y-4% (2) % (31 -1

92, The slope of the tangent to the parabola }'I =4 ax polnt I_atl. Zat) will be :
(1)-t (2)- 14 (3) I (43t

93. Ifa=1 2j and b = 2{ + &] are the parallel vectors then & Is equal to :
(-2 (2)2 13-4 44

94. A stone is thrown In silent water, the ripples are moving at the rate of 6 cmi/sec.
then the rate of change of the are when the radius of the unite is 10 cm. at the time
when radius of the cirele is 10 cm, then the rate at which Its area Increases s :

(1) 120 m™/sec. {2) mem’/ sec. (3) 120 em’/sec. {4) 120 & cm®/sec.

95. A dice is thrown then the probability that the sum of the number is 1 or 6 is :
() 16 (2) 13 (3)213 (4) %

Q6. The value of cos b xd) Is :
{10 {2)1 (3)-1 {4} none of these

97. For Z1, Za € C the value of | Zy + 23| * +| Z) - 7| * will be : ——
(12 (&} + |Z4) 2V + [l BV E] 2" - ) - ] (4) 20" - [Z4)




98. The real part of cos h (@- If)Is:
{2} cos ho cos

{1} sin hoe cos B

{3) —cos ho cos

(4)sinoeos f

99. If three vertices of a square are 31, 1 +1 and 3 + 21 then its fourth vertex will be :
{3)aigin

(1){3.3)

1040, lim

L=ph

il

(2)(24)

x—b] Is equalto:

x—-h

{2}b

(30

(4) [L, 1
2

2

(4) does not exist
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